
Section	
  4.2	
  –	
  Solving	
  Multi-­‐Step	
  Equations	
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Part	
  1:	
  Do	
  It	
  Now	
  
  
Solve  the  following  equation:  
  
−9𝑥 + 8 = 23  
  
  
  
  
  
  
  
Part	
  2:	
  Solving	
  Multi-­‐Step	
  Equations	
  
  
To	
  solve	
  an	
  equation	
  involving	
  multiple	
  terms:	
  
 
1)	
  Get	
  rid	
  of	
  any	
  brackets	
  by	
  expanding	
  using	
  the	
  distributive	
  property	
  
2)	
  Collect	
  variable	
  terms	
  on	
  one	
  side	
  of	
  the	
  equation	
  and	
  constant	
  terms	
  on	
  the	
  other.	
  	
  
3)	
  Collect	
  like	
  terms	
  
4)	
  Isolate	
  the	
  variable	
  
	
  
Don't	
  forget	
  you	
  can	
  check	
  your	
  solutions!	
  
	
  
1)	
  3𝑥 + 2 = 2𝑥 − 4	
  	
  
	
  
  
  
  
  
  
  
  
  
  
2)  7− 2𝑥 = 8− 5𝑥  
  
  
  
  
  
  
  
  
  
  
  



Try	
  on	
  Your	
  Own	
  
  
3)  5− 3𝑚 = −2− 2𝑚  
  
  
  
  
  
  
  
  
  
  
4)  5 𝑥 − 3 − 𝑥 − 2 = 19  
  
  
  
  
  
  
  
  
  
  
  
Check  your  answer…  
  
  
  
  
  
  
  
  
  
  
	
   	
   	
   	
   	
   	
   	
   	
   Try	
  on	
  Your	
  Own	
  
  
5)  2 𝑥 − 3 = −3 𝑥 + 5 − 6            6)  5 5𝑥 − 13 = 23𝑥 − 13  
  
  
  
  
  
  
  
  
  
  
  
  



Part	
  3:	
  Application	
  
	
  
7)	
  The	
  perimeter	
  of	
  the	
  given	
  rectangle	
  is	
  50cm.	
  Determine	
  the	
  length	
  of	
  each	
  side	
  of	
  the	
  rectangle.	
  
	
  
	
  
	
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
	
  


